@ :
@ GTO(MSS— Ser'Je/—V’:’_ef/laolo°~

—
'No____——.o.’—’_—o

et

al(x.‘l"alzxz + %3
o, X, + g X, + Oy X??:\oz
oL X, + O My 3Rz ™ a3

\ be o S&S‘/‘em g//;}qu(),- ec‘w}t'&trons .

We Can ,ffno/ fhe \)m(uw % Xif)(lahol /\’3 JJJ l/tffnzj»
ﬁrmu/d; -

(K+0) (k) )
X' :[Ip)—(ﬂ‘xxzk—1—0(’3)(3([{)1/01“
(k+1) (1<+1) (&)
X2 :[bz’ (MZQX\K + 0\23)<3 )]/0\12

(k+t) (K+1) £+ 1) o
X [b,- (015X o, % )/ 33

><3 =},

‘f/l'LC ﬁl/aw‘fvj

—

3 =
f(@ Oy 1,2, v

EXMME/e °
?y Qamff—-Ser'yfa/ WleHzaa/; Solve the ﬂ//owjﬁj

) S%en/li
J HX1+X2—2X3:/

X, T3X, - XJ =2

X, - 7 X, +loks =4
heve XPo1, X s, xPoyg , e left?

! 2


dell
Pencil

dell
Pencil

dell
Pencil


@,

Yolukion
“(ksr)

X [L - (U‘\m 2(’<)+ (M{gX(K) )] /63{“

!

(1< +1) (1<)
X b (o x o, x0)] o,

C(<+\) . ‘
X D%” <O{3; 1< ’ Uﬂ >5j /az?

322

K=0,1,2,~~
(1
,/[/,(X(OJ-Z)((G) ]/i} :[ (3~ q)}/q:@’g
-3 <XM'X<O>)]/3 = [59 (0-5- 2)] /323167

% )/LZ XOL?XU)]/ [2 (0-5 - }(3 Ié?)]/

3 -

= 0.34 %
(Q)
L' (X —Zx” ]/L{ [1-(3-16%- 2(2- 347)j/q
= 0. 4973
)
F[X X 'X ]/3'{% (06453 - o3 D/3
- 3.14!

X [~ (X _’H”)]/OW/%%W
[2 (0-443-7(3- zu:))]/m /. H03



S,
ro
£/
71,{4
£
-
Ine
s
Fem
J.
.
/
mj{
T
i
Se
if
%
}%



